Integer LP: Verification of the First Numerical Examples in Chapter 13
Part I:

13.1 We put in LINDO:
Max 15x1 + 24x2 + 18x3                                                                                                                          ST                                                                                                                                               4x1+6x2+2x3 <1800                                                                                                     3x1+5x2+7x3 <2400                                                                                                                  3x1+2x2+4x3< 1500                                                                                                                          x1<360                                                                                                                                                x2<300                                                                                                                                                x3<100                                                                                                                                                   END

OBJECTIVE FUNCTION VALUE
8200.0
VARIABLE        VALUE          

     X1                  0.000000              
     X2                266.666656             

     X3                100.000000              

As in our textbook, Figure 13.1 shows the same obtained here by LINDO. The optimal value of the objective function is $8,200. That is, the product mix should be X1 = 0, X2= 266.67, X3= 100. 

Part II:

1n 13.2 section we need integer values for decision variables i.e., no fractions. So the computer formulation must be modified: 

We put in LINDO:
Max 15x1 + 24x2 + 18x3                                                                                                                          ST                                                                                                                                               4x1+6x2+2x3 <1800                                                                                                     3x1+5x2+7x3 <2400                                                                                                                  3x1+2x2+4x3< 1500                                                                                                                          x1<360                                                                                                                                                x2<300                                                                                                                                                x3<100                                                                                                                                                   END                                                                                                                                                              GIN X1                                                                                                                                                   GIN X2                                                                                                                                                     GIN X3

The integer solution is obtain to be:

OBJECTIVE FUNCTION VALUE

 8199.0
  VARIABLE        VALUE          

        X1                 1            

        X2                266       

        X3                100    
We can see the same results as given in our textbook in Figure 13.4.  This is achieved by adding GIN (i.e., General INteger) to LINDO. That is when we add the constraint of no fraction for the 3 decision variables. The optimal value becomes $8,199 with optimal solution X1= 1, X2= 266, and X3= 100, all integer as expected. This concludes our verification. 
Notice that this optimal integer solution cannot be obtained by simply rounding the non-integer solution of Part I, namely rounding X1 = 0, X2= 266.67, X3= 100. 

